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A.y=x+f(x) B.y=xf(x ) C.y=x*+f(x) D.y=x*f(x)
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A. (=2, +w) B. (=1, +w) C. 2, +) D. (3, +w)
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A. —2 B. 0 C. 2 D. 1

4. CHNRREL FO)RHT R S x 2 f(—x) () =2, HRE y=F)HRERE y=x+1 H =L m(X Vi)

(X2 ¥2)» (Xa» ya)» Wyityotys=__

5. W ()R E XAE R FIOARE, HAMEESH x, HE fx+2)=—f(x). 24 x<[0,2]H, fx)=2x—x%

(1)RUE: (x) 2 & 3T ek A
(2)Z xe[24]1F, K f(x)RfEEdT .



LA AET 2 2022 Jm = e — R E I 2R A 1R HIZN: PR fEHIE. 7,23

6. BRELFO) M2 LI D={x|x#0}, HifEX T1EE X1, ED, A f(xy * X2) =f(x1) +f(x2).
(1)=R f(L) e
(2)JAIBT () (0 23 48 12k I AR I 2548 5
Q)& f(4)=1, f(x—1)<2, H f(X)7EQ, -+oo) LraififitE, K x FIEUETE .

A sEAME
1. iTiE: @As

2. #MEYI -



